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xercise- 14 (A) 

DFind the petmeden of He Houtes givon beow. 

3 cm 

Length = 8 cm Breadth= 3 cm 
Portimeter:2x Length Brread th) 
ax (8+3) 

= almn 

6 am 

6C 

6 cm 

Lenglth oB one Side: 6cmn 
Pextimeher = Yx length o one side 
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A 

3 cm 

B 

Pertimeten: AB + BC CA 
+34 
- m 

am am, 

Perümetert= AB 4BC + CA 
a+24+2 
3a 
6 Cm 
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B m 

cm 
1cm m 

E D 
5 om 

Perimcter-AB+ BC+CD+ DE EF +FA 
: 5+1+1 +5+1+1- 1MCm 

A 

6Cm 

Tm 
Sm B 

Perimaturt AB + BC CA 
74546 
8mn 
A cn B 

5am 5cm 

D 

Pertimete AB t BC CD t DE EA 
: t5 + ata t+5 18cm 



bcrm 
a om 

C C 
a m 

m 

om 
E aom 

Pextimetert = AB +BC+CD +DE EF + FG+GHAH 

B A 
1om 1) H amG Dacm 

F 1om 

Artimete A B 4 BC+ CD t DE 4 EF+ FGI t GHA 

AA 
5t1+2*9 1+9+ +1 20uo 



alasSMAte 
Date 
Page 

B A 8 um 

E F 6 um 

Mm cm m Bcm 

Dom H1um 

Perumetet =AB+ BG CD + DE +FF4 FGt GLHHA 
84 143+6+3+1+9 =30cm 
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